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1. Express each of the following equations in the form ax + by + ¢ = 0 and
indicate the values of a, b, ¢ in each case.
)2z — s+6=0

o\ y
(”)3_6_1
(i) V22 + 3y =5
[3 Marks]
(i) 2z — 34+6=0
ax +by+c=0
a=2,b —%,c:ﬁ
[1 Mark]
()5~ =
T Yy
55 LT
ax +by+c=
a:%,b— %,c:—l
[1 Mark]
(iii) V2z + V3y =5
V2 ++/3y—5=0
ax +by+c=0
a=+2,b=+3,c=-5
[1 Mark]
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The cost of a notebook is twice the cost of a pen. Write a linear equation in
two variables to represent this statement.

[ 3 marks ]

Let the cost of a notebook be = X x

Let the costof a penbe =%y - [1 mark]
According to the question,

The cost of a notebook is twice the cost of a pen.

i.e., Cost of a notebook = 2 x Cost of a pen

-------- [1 mark]
X=2x%xy
X =2y
x-2y=0
x - 2y = 0, is the linear equation in two variables to represent the statement
‘The cost of a notebook is twice the cost of a pen’. ---------------- [1 mark]
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Express each of the following equations in the form ax+ by + ¢ = 0 and
indicate the values of a, b, ¢ in each case.

(i)3x-y=x-1
() §- §= 5+
[2 Marks]

(i)3x—y=x-1

In the form of ax + by + ¢ = 0 we have 2x + (-1y) + 1=0wherea=2,b = -1
andc =1
[1 Mark]

(i) 5-5=5+y
Multiply throughout with 6
3z — 2y =1+ 6y
=3z —-8y+(-1)=0
ax+by+c=0

a=3,b=-8,c=-1
[1 Mark]
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Express the following linear equations in the form ax + by + ¢ = 0 and indicate
the values of a, b and c in each case:

(i) 3z = —Ty (iDy—5=0
(iii) 4 = 3z

[3 Marks]

() 3x = —Ty

= 3z+7y+0=0

Herea=3,b=7,¢c=0
Herea=2,b=0,c=3
[1 Mark]
(ily—5=0
= 0z+y—-5=0
Herea=0,b=1,c= -5
[1 Mark]
(iii) 4 = 3z
= 3z—-4=0
= 3z+0y—4=0
Herea=3,b6=0,c=—4
[1 Mark]
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Express the following linear equations in the form ax + by + ¢ = 0 and indicate
the values of a, b and c in each case:

(i) —2z 4 3y = 12 (i)z—3-5=0 (iii) 2z + 3y = 9.35

[ 3 marks ]
(i) —2z + 3y =12

= —2x+3y—12=0
Herea =—-2,b=3, c = —12

[1 mark ]

(ii)w—%—SzO

Herea =1, b:—%,c:—5

[1 mark ]
(iii) 2z + 3y = 9.35
= 2x+4+3y—935=0

Herea =2, b=3, c=—-9.35

[1 mark ]
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6. The value of y at z = —5 in the equation 25y = 75« is :

[1 Mark]

Solution:

Given equation: 25y = 7hx  ....... (i)
also, z = —5 ( given)
Putting value of z = —5 in equation (i) we get,

2by = Thx

25y = 75(—5)

25y = —375
y=—375/25

y=—15

So, the value of y is —15.
(1 Mark)

7. The taxi fare in a city is as follows: For the first kilometre, the fare is ¥8 and for
the subsequent distance it is I5 per km. Taking the distance covered as x km
and total fare as Ry, write a linear equation for this information.

[2 Marks]

Solution:

Let, Total fare = y

Total distance covered = z

Given

Fair for the subsequent distance after 1st kilometer = z5
Fair for 1st kilometer = =8

[1 Mark]

According to question statement,
y=8+5(x—1)
=y=8+b5x—5

=y=>5zc+3

[1 Mark]
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8. Write four solutions for each of the following equations:

()3x+4y="7
(i)x+7my=4

[4 marks]
Solution:
()3z+4y=T7
Sy=(7—-3z)/4

When z = 0, then

y=(7-3x0)/4

y="7/4

Similarly, for x = 1,2, and 3, we get value of y as 1,1/4, and —1/2
respectively. Hence, four solutions for equation

3z + 4y =T are (0,7/4),(1,1),(2,1/4),(3,-1/2).

[2 marks]

(ix+7my=4

Ly=(x—4)/n

When z = 0, then

y=(0—-4)/x

y=—4/m

Similarly, for z = 1,2, and 3, we get value of y as —3/x, —2/m, and —1/7
respectively.

Hence, four solutions for equation = + 7y = 4 are

(0,—4/x),(1,-3/7),(2,—-2/7),(3,—1/x).
[2 marks]
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9. Find the value of p if # = 3,y = —4 is a solution of the equation
4z 4 2py = 28.

[2 marks]

Solution:

Given equation is 4z + 2py = 28.
Putting the values of z and y in the equation, we have

4x + 2py = 28
=4 x3+2px(—4) =28
[1 mark]

=4 x3+2px(—4) =28
— 12 — 8p = 28

— 8p = —16

S.p=—2
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10. Write four solutions for each of the following equations:

(Hy—2x=3

(i) bx — 7wy =5

[4 marks]
Solution:
(Dy—2x=3
Sy=3+2x
When z = 0, then
y=3+2x%0
y=3

Similarly, for x = 1,2, and 3, we get value of y as 5,7, and 9 respectively.
Hence, four solutions for equation
y— 2z =3are (0,3),(1,5),(2,7),(3,9).

[2 marks]
(i) bx — 7wy =5
Sy=(5x—b)/m

When z = 0, then

y=(5x0-5)/7

y=—-5/m

Similarly, for x = 1,2, and 3, we get value of y as 0,5/7, and 10/«
respectively.

Hence, four solutions for equation 5z — 7y = 5 are

(0,—5/7),(1,0),(2,5/7), (3,10/x).
[2 marks]
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